MM Catalog: G955, G1355 Tractors

G G955 and G1355 were built in the Charles City factory from mainly Oliver componensts.
G|1 Parts for these models are found under the Oliver web tab due to commonality with Oliver models
9(3
5(5
515 Part No. Description Note
10 - Sheet Metal Hardware Kits
|V |& | wa74 Hardware Kit, Sheet Metal (3955/1870, G1355/2270

11 - Sheet Metal Parts

W516 Dash Screw Kit

50A2633 Screw, 5/16 - 18 x 3/4 HWH Typ F (GM172455) sheet metal

50A2634 Screw, 5/16- 18 x 1 HWH Typ F sheet metal

13 - Button Plugs

1216 Plug, Button 3/4 Dia. Hole hydraullic valve

1228 Plug, Button 2 Dia. Hole PTO, hood (tractors with manual steering); MM: dash support, diese
20 - Fenders, Platform, Seat

30-3042340 Handle, Mounting Instr Panel '55 series; w/ mounting hardware

106259A Washer, Hvy Fender 3/8 x 1-5/8 x 7TGA fender mounting, 6 per fender

S451 Hardware Kit, Fender Fuel Tank Trim

S452 Fender Fuel Tank Rubber Mount 100611A rubber mount, 7/16 bolt, large washer; 4 per fender
E849 Bumper, Rubber fender fuel tank - 8/tank; 1800 & 1900 left platform door (1)
30-3016463 Dampener, Vibration 3/4 ID x 2-3/4 OD platform mount replace by 30-3154718 (3"OD)
T501 Hardware Kit, Seat Cushion includes shoulder bolt 159873A (2)

159873A Bolt, Shoulder 3/8 X 1/4 includes nut and lock washer 5/16"

30 - Engine

] B167 Plug, Oil Drain 7/8-18 UNS Hex Hd engine oil drain

[] B168 Seal, Oil Drain Plug 7/8 reuseable dual o-ring/crush seal

34 - Engine Exhaust Rain Caps

| | | 1169 Rain Cap, 4" Donaldson: zinc, silencer

40 - Drive Train

1172 Plug, 1/2" NPTF Sq. Hd. Magnetic Ceramic Disc S1929, 2 and 3 speed drain

30-3000419 Plug, Oil Drain 1/2 - 14 Ctsk. Hex Skt. Steel PTO/Rear End check plug

1170 Sight Gauge, 1/2" NPT rear end

105488A Breather Vent, 3/8 NPT filtered; upgrade for all models

155321A Breather Vent, 1/8 NPT Sht FWA axle differential

155339A Valve, Relief 1/8 NPT Sht FWA axle planetary

943148 Bushing, Pipe 1 x 3/8 Reducer PTO breather; rear end breather upgrade for 17xx models and up
30-3176835 PVC Closure, PTO Valve 2-3/8 ID

1027 Clamp, Hose #40 PTO valve closure

50 - Hydraulics, Hitch

167019A Knob, Servo Valve Stop TPH knob, carriage bolt, flat washer

P441 Hardware Kit, TPH Implement Latch 4 - 1/4" screws & lock washers

104790A Pin, Pivot TPH - 1/2 OD X 1-19/32 long TPH Latch; includes snap rings

1E3318 Pin, Linch

60 - Electrical, Lighting

0441 Switch, Neutral Start 105498A NC & 30-3017095 NO w/hardware
30-3022633 Switch, Park Brake micro switch, long lever

105372A-F Socket - Instrument Light - 1 Wire Ford socket, includes LED bulb

105372A-G Socket - Instrument Light - 1 Wire GM socket, includes LED bulb

Thursday, December 17, 2020 www.oliverhardware.com Page 1 0f 2



KRR KRR KKK
KRR KRR KKK

G955 and G1355 were built in the Charles City factory from mainly Oliver componensts.
Parts for these models are found under the Oliver web tab due to commonality with Oliver model

106766A-G Socket - Instrument Light - 2 Wires GM socket, includes LED bulb

106766A-F Socket - Instrument Light - 2 Wires Ford socket, includes LED bulb

1210 Bulb, LED instrument lamp

169295AS Holder, Fuse - 6" wire, 12GA instruments and lights

106366A Cap, Fuse Holder

1245 Fuse Assy, Cigarette Lighter 15 amp AGC fuse

0101 Diode Assy, Starter Circuit Protects neutral start switch contacts from burning out due to arcing
30-3054519-K Battery Bolt Kit, 5/16 x 10 Hex Hd (S1529) SS; w/ lock washer & nut

70 - Steering |
| | 10A31498 Nut, Steering Wheel 13/16 - 20 Jam UNEF steering wheel
82 - Lube, Filters |
1088 Filter, Oil Amsoil Eao42 2/3-speed; OEM length; synthetic media 99% effcient @ 20 micron
1194 Filter, Transmission 156513A Donaldson; cellulose media 99% efficient @ 40 micron

1094 Flush, Engine & Transmission - Amsoil 16-0z. diesel & gas engines, fransmissions

A401 Amsoil 2- 3-Spd Oil Change Kit (C11) flush, 6-qt synthetic ATF oil, high efficiency filter

Thursday, December 17, 2020 www.oliverhardware.com Page 2 of 2



